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Which one doesn't belong?
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Explain your answer.

How long is the pencil?
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How long is the pencil?
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How tall is the cuboid in cm?
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[The pencilis ___cm long.

[The pencilis __cmlong.

[The cuboidis __ecmaall




Draw straight lines of various lengths and orientations on to poster paper.
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Make each line 10 cm long.
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Mo has used the ruler to measure the
length of the car.
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Mo says the car is 8 centimetres long.
Do you agree?
Explain your answer.



| can measure |engths to

a maximum of 12 cm.

Do you agree?

EXPIEIiI'I your answer.
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